Final Exam Prdubilly Theey e 2 i

La) )= [y 0eg) dy K€ oy
~ 00

+on x¢ (~|,|)'. {X(x):o
! [
o xe G,0) b 0e] gy dy o] s
- X =

e %e [0,’9 fx (*):J; Ky dy - [3){93‘]': 3X*-3x5.
o X

b) For 0L (< ’[‘fly): /ﬂgxzyz . :[3x5yi]]: 345+ 3= 6"
= Y o
o 44 (o) forg)eo

& j % i » ‘p (X,)
o) E[X IY::;)%-.{ X L el ok gx %m

-V 69Y a 9 53 -
3 2
= 5\_ 3
: i J
) €08 - [ 2yl gy [l gg ] h g
EY=y) Ty() .

e) Cov (Kif) = E(XY)~E(X)ELY)
ELXV) W\d EQ() are. both o by \yrnmeh:y, SO Cov()(,‘r):o |




| / 2.4
Or _Gumpute: E(xv)jggﬂwaﬂxwadx%=f[§xqf[:”‘1

=

-

Jind &\Milofb £(X) =o.

20)  fe@)= [ ) 4 (2-x) dx
._m

= ﬁ.m ¢ (F ) ax.

So -F%(‘f)=0 ff A

Fn 221, T-x7%0 9;\»@) Xié &

Sa AFD/\ %7’ ¥ (+) ‘j\ . x+|(£ )&-(% =) alx

I T

s

:('%7' 2 4+ 4 )e,-&ﬂ

% LW
: P(W‘.)’ff ) dy o 2"

fo - [ yel-& ] ol fe (1€ +ET) dx

1

ij(xe, 2%+ -—1ﬁ+l) 5 [ (_- -uu):] J‘ -LX+I ~7_x+l;

= 7
_ 1 CRELT Mk r 300 . & o
=%e +[E(L)é’, ) Ze+qe-5e




38) That for st 70 P(X st ’X>6): P(X>¢).

or, Jd«cot} cmolitiom/@ n the puent M X>5, fha

].‘. We Ihkff)f‘&} )4 as a(l/k hM/) or 'Wa’}w\jf)%/

(enaining ey time /life time offer § has fa Jouna
distribuhion gy “the orignal  waiting/ life fme

X
b J; x)=JLt e’ for Xz o
) : /{ other wide .
(=& 51 Aaf =X 50 X<-5Ca¥
So ﬁr(ﬂ) :-f)( ('56/\9) /'\.95:/ g 0<y<
0 othor Wi
e
.-{3@ e p Yo I sy
0 atenvide

(so T is Unforen on (O,r]).

4)  Number e chairs fram 140 b s

chaun ( BA smdaat (S
LQb XL :{'] acjlhk (S“rvtdi«*'toté(om irole,cmdé A oude~t at
e dar

0 otherwie
K= Xyt +Xip, 50 €0Q0= € )+ +E04)
N-0.9.6,2
E(XL) 28 SE
EX) <16 E(x) - ot

ISy




5“) Kt Kot Kot Ky M(/“= 9, 01:")

P(-1< X,+-L,. T Xy ¢ l) e Pleye Xit-- + Xygu)

= F(o2e i ok« 2) - F2)-3(-)

@ F (1-8@) - 286) -1 <290
=0/g5‘qq.

Eb) '~ bin (n oo, p 7’)
P(QS’( Y« 52) P(q5~ £% 2 SZ)

& P(L(S- —LIOO 2 Y-x06 ¢ 52%_ 50)
V"lOo 3

@ F(a)-Fagh) s by (1= 4100)




